THI=FHA—F 0117 IFED

2007 £ 9 A 3 8 (A)

BEAER RISYTF FTHUHIRR -
HDCPERR: (5) (%)
f= Lf-):
ouT
=
L2 REE A OUT | IN | GROSS | HDCP | NET
i "H 2 38 39 77 0.0 77.0
261 ||’ i%3h 43 38 81 0.0/ 81.0
I AR RiA 43 41 84 0.0/ 84.0
AL |HE B 43 41 84 0.0/ 84.0
51 | —HB 40 44 84 0.0/ 84.0
661 BB & 43 42 85 0.0/ 85.0
M R Bt 42 43 85 0.0/ 85.0
8hT  JK#E FETT 42 43 85 0.0/ 85.0
9 RE HE 42 43 85 0.0/ 85.0
1061 ALt ZEF 40 45 85 0.0/ 85.0
6L |#BI = 43 43 86 0.0/ 86.0
1260 |k - 44 43 87 0.0 87.0
136 &) JE 43 46 89 0.0/ 89.0
1460 (R B 48 42 90| 0.0/ 90.0 F:EFEE
1561 |Hl B 43 49 92/ 0.0 92.0#XRD
166 BA B 48 45 93| 0.0 93.0#XR®
1761 | £# RE= 47 46 93| 0.0/ 93.0 XA
1861 |HF  #&% 46 48 94 0.0/ 94.0
1960 |iIE 3& 53 48/ 101 0.0 101.0
206 |3RHF RBER 51 50/ 101] 0.0/ 101.0
2160 #EA ® 60 45/ 105/ 0.0 105.0
22t |EHE Fth 49 57/ 106/ 0.0 106.0

P-1

7A/3aNLT7a—X




